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A protest made not in his presence, etc. - 9912 1ID2 ROW IINAN

OVERVIEW

The X3 discusses whether a 1°192 R5W 1Rmn is a valid 7Xm2 or not. MHYIN
argues initially that the proper term for this discussion should be whether a
1°192 ROW 7P is a 1P or not; and not if a 1192 XYW RAN is a IRAN or not.

nvoIn asks:
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It is astounding! Why does the X773 always mention the term an absentee

protest?! The X713 should have mentioned an absentee possession, etc.

The relevant issue here is whether the 17192 X?w 7117 is a valid 7P or not. The XA

should use the expression 17192 X7w 7P and discuss whether it is or is not a 7p1m; not
1

ARMAnN.

N1B0IN answers:
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And one can answer, that the main cause whether or not there is a 7P
depends on the status of the aNm»; whether the 7Xn» can reach the poin or
not; for a 7P certainly has publicity even if the 7P takes place not in
the presence of the xnp X —
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And nevertheless if there is no publicity for the 7xm» it will not be a
AP35 even though it is assumed that the p"» heard about the 77117, and we know that he

did not make a 1Rmn, nevertheless it will not be a 711, since the p"» can claim I did not
make a 1Rnn because it is useless. The p 1in will claim that he did not hear it.
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And therefore, since it all depends on whether the 7Xn»n has sufficient

"If we assume that 8nn M77 17193 XOW 7MY, it means that the P31 will be valid if no XM is made; and there
will be no npin if a 78nn is made. If we assume that X7 X7 X? 17192 ROW 7807, it means that there cannot
be a np regardless whether or not a IXmn was made; not that the 7Xn» is ineffective. In most instances the
relevance is whether it is a 7P, not if it is a ARMA.

? The original owner of the field is always inquiring as to the status of his field. If someone is occupying it,
he will definitely become aware of it.

? The new purchaser of a field is not actively listening if someone is making a 7xm». In his mind he bought
the field, and it is over and done with. Therefore the chances are he will not be aware of a 17192 R>W 7IRMN.
See following ano7 "7 X,1° MBOIN.

* The discussion whether 192 X9w has a 2% or not, is not whether a 192 85w 77pin has a 91p; it certainly
does. The question is whether the 192 R?Ww nxm» has a 7.
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publicity, he mentions 718 as opposed to 7pm.

SUMMARY

The expression used in the X713 is 17192 XKW 1X7; because the validity of the
7P depends on whether the 7xm» has a 7 or not; regardless that the pm
has a 7p.

THINKING IT OVER
What changed in m»oI1n understanding between the Xw1p and the y17°n?
Alternately; what would be amiss if the expression would be 1°192 Xow 7pmn?
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